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questions are compulsory. Internal options are given in Question
6 to 20.

stion Nos. 1 to 5 are objective type questions.

stion Nos. 1 - Choose the correct options - 06 Marks

stion Nos. 2 - Fill in the blanks - 06 Marks

stion Nos. 3 - True/False - 06 Marks

stion Nos. 4 - Match the column - 05 Marks

stion Nos. 5 - Answer in one sentence - 05. Marks

stion Nos. 6 to 12 total 07 questions carry 02 marks each. Answer

1 limit is 30 words.
stion Nos. 13 to 16 total 04 questions carry 03 marks each. Answer

1 limit is 75 words.
stion Nos. 17 to 20 total 04 questlons carry 04 marks each. Answer

1 limit is 130 words.
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1 Hﬁﬁlﬁqwﬁrﬁgq \ - =
(1) W%ﬁqmﬁmﬁaﬁwqgimﬁmmﬁﬂmﬁ%m

AT W % o R
(a) WEIT oy (b) @EEX A
(c) fawed wswifT (d) feffea @™
(i) TEW FRT o § FAe By o @Ed & -
(@) X A (b) gX HFLL A
(© e & d) s &
(il) SRT SREIH st W ¥ -
(a) ERE (b) o
(c) =t (d) o &
(iv) Q@?mmﬂmﬁmmﬁm%ﬁaﬁm
& fe frar wmar ®
(a) INSERT (b) SELECT
() UPDATE (d) DELETE
(v) mEr ¥ @w ¥ -
(@) 1 omard @ (b) 2 smErEh W
CRER L OREGEEEa
(vi) WW@W%WW@QH@@WSHWQQ
S B4 27 =
(a) =@ (b) = &
(© A CI jgf;

e |

Choose and write the correct options :
(1) An attempt to harm, damage or cause threat to g g

ystem OF
Is ,broadly termed as netWOI‘k

(a) Cyber crime (b) Cyber attack

(c) System hijacking (d) Digital Crime
(ii) Personal computers can be connected to cach othepr
;(d) in a server (b) in super S
(c;) in the network (d) in the noge cr :
(iii) Function of Data Definition Language ig ey
(@) Create (®)  Alter
Dro d ;‘ )
;fj) P (d) All of the aboye t :
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(iv) ____ statement is used to query retrieve data from a table in
the database.

(a) INSERT | (b) SELECT
(c) UPDATE (d) DELETE
(v) Series in Pandas is
(a) llidimensional array (b) 2 dimensional array
(c) 3,dimensional array (d) None of the above

(vi) Under what type of topology all stations are connected to the same
comrnumcat10n path?

() Bus (b) Star
(©) Mesh (d) Circle

2 ﬁaﬁwﬁaﬁtﬁaﬁﬁq 6

@) TE T, WEl gL A W AT WZTH AT JqEELE BT UG
Wwﬂqﬂmmaﬁﬁmﬁmsmaﬁ%n

(ii) ~ Ul TR qer $exfv fhe e 4 TerE H T doe
T, S uh R erE W e ww ¥

(iii) @ﬁwmmﬁmﬁﬁﬁrmaﬂm%maﬁm
TS

(iv) T% Reemw sreed o H GUE TIAT B

V) | aﬁmmmwﬁmwwmmaﬁ'{mﬁm
# TeHd IR @ wafa se

(vi) VOIPairi%r{\‘-lTﬁ—cr?IW__%l

Fill in the i)lanks . \

(AN T is where the user has deliberately shared information
about hlmself either by using social media sites or\by using
webs;jc__es 2

(i1) at ! is a collectlon of pubhcly accessible, mterhnked webpaoes

(iii) is wrongful copying from the text of another author

withoyt mentioning the source.
(iv) A relational database consists of a collection of _ . .
(V) A refers to the graphical representation of-data and

N )\
information using charts or diagrams OI maps.
(Vi) VOIP-stands for
s,

a¥ =
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3 [mAfaRaa = & /e fafag W—Eﬁﬁ%l
() 3w e Rred W dodw GeRPRE @ TR Loy
(i) Fo-gee ds ¥ S Bras feamdd Th @d 5 4 9 |

EES
(iii) U Rew o b 2 99 & g&a Bl
(iv) SRIPFFHT H = ¥ dwe o FEd T
(v) FOSSO®I g 7 Wi qorr st @ greeaal @ ! a1
(vi) TRRRCETE B legend () AuE wie R & ders 8 el P
Write True/False for the following sentences : : : a4
@ A de%fa‘base management system receives the instructions i

database administrator. : Tond
(i) In full duplex mode both the connected devices can sen’

receive data simultaneously.
(iii) A -switch can have 2 ports only.
(iv) Ethi&irhacker is also called as white hat hacker.
(v) FOSS’stands for Free and Option Source Software. ot
(vi) The Elféfgend () method of axes class does not add a legend to the

plot rfigure.

—{

A i B ‘
() o sHE-—a () fra e wiEd
(i) CSV WrEw (i) WeRE @O A S
(i) FRFT (i) e amEE A
(iv) fresre erors (iv) d9 TS ey
(V) T G (V) §EI gfe

fud (vi) TES 99 @H e

Match the column : e

A e B (@)
(@) im B;erners-Lee (i) Simple text file k
(i1) CSV:i‘ﬁle (i1) Procedural Query Language —
(1i1) Trolljﬁ;g (iii) World Wide Web -
(iv) Relational Algebra (iv) Web browser ‘\

(v) Goo%% Chrome

=1
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(v) Cyber bullying
(vi) Guido van Rassom

R o
iy

4



5 ugp = dd H IO QAN 5

() T 3 W wEew B g @ Afrgae wT & g el e
Tr HEX W STeTaNETS T g

(ii) WWWW,WﬁWmWW&%M
B THT BT & |

(i) <l TR Y % R Swdm A SR A qed A
T TEUT AR DAl & 7

(iv) T Reamw e diiz-g iz fiw % W ¥ Aas 9 E A
W@fﬁ‘c@gm%

(v) e e B T wed @ A dwg Red s El

Give answer in one word / sentence :

O AR unauthorized entry into a network or a computer to steal or
ma;mpulate information data or files.

(ii) It refers to the process of communicating mteractmg or exchanging
message over the internet.

(1i1) Wh1ch is the most popular open—source Python hbrary used for
domg data analysis?

@iv) Each device is connected to every other device on the network
through a dedicated point-to- -point link.

(v) FEunction returns the maximum value of the selected column.

6 s‘—ao‘mﬁéw ¥ fawg ® f@Egl 2
Write (Labout e-commerce website. : ‘

st / OR
ﬁmﬁﬁﬁsmﬁﬁml

Write characteristics of Tree topology.

7 i—éwﬁwﬁﬁuﬁﬁ%&ﬁ?ﬁml 5 2
erte how to control the problem of e-waste. .
0 s / OR

Wgﬁ,aﬁw%ﬁﬁwm%?
How eqp you protect yOurself from cyber bullying?
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8 tad ¥ yard ¥ fepe frdw & farfEd!
Define script kiddish in types of Hacker.
sy / OR
JEHh HT T 7

What is Trademark?

9 w SQL WRnfFr & e HIan &7
Does SQL support programming?
st / OR
ST iR HT 7
What is Data Consistency?

10 wiEa fHed &= 77
What is file system?
s / OR
o7 ey & fRem ok Seew afea fafag)

Write Trim () function with syntax and example.

— 11 uEr aesd & fawa § fafeg) 2
Write about P:andas Library. D
syt / OR
gy A Fﬁﬁ?rr @ T fagwand faiea!

Write two features of series in Python.

12 A wie wb 7 dra ¥ e )
What is Line; p10t‘7 Write in brief. &S '
s / OR
=TT ﬁgams@fsﬁ ¥ Bz o v falgul

Write any two benefits of Data Visualization.
]

1’3(,1:&2333@1%@@@1%?
~What is active hub and passive hub? <t
| st / OR i
WWWW%?W—Q—WW%W%
What 1s computer network architecture? Write the adVantag WI
to peer archltecture S,0f peer

Ny \
i \
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Sl
14 «iew SifEfor efe ¥ ong w® EEEd © 3
What do you understand by Social Engineering Attack?
st / OR
e & Uiy oo gl A fRag

Write the introduction of internet in your own words.

15 dfda o F‘am‘ﬁ HITT: v 3
(1) 'sﬁ?l STIE
(ii) W%LWTH TS
Write shpr;c notes :
(1) Equi Join
(ii) Orderby Clause
v st / OR

Write sﬁogt notes on :
(i) SQL Rename table

(i) SQL 'Drop table

16 €O H?Jﬂ%a%q % W S W BTl 3
Define tﬁé difference between Series and Dataframe. -

st / OR =
THThIST %ﬁa‘egsra % A iy | ‘

Define Anaconda distribution.

17 ﬁnawwzﬁaﬁﬁ%eﬁa@mwaﬁml | 4
Write the, difference between Ring and Bus topology.

('"‘ Fyar / OR

Wamﬂaﬂ%eﬁﬂwwaﬁiﬁql
Write th%:’dlfference between Router and Switch. i

-
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18 W%W%WWW% e
What are the¢ physiological effects of usage of tec .

s / OR .
RO il wEe, 2000 % mEES T T l

Write salient’ features of Information Technology Act 2000 in detail.

19 _frafafea waeet & Req afeq farag :

Write the following functions with syntax :
i) NOW()
(i1) DATE()
(iii) MONTH( )
(iv) YEAR(Z)

. ' sy / OR
frefeiaa wﬁﬁz Gl @Bl e e afed @it
Explain the followmg aggregate functions with syntax :
i) AVG().

(i) Count()
(i) MIN()-
(iv) SUM(, ) >

20 ST FHT Head() o tail() A¥s B GHIET|
Explain Hea_c}( ) and tail( ) method with example.
Fa / OR

csvﬁaﬁmwmﬁ%?ﬁmmm

What do you mean by CSV data? Write in detail.
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